
0) TITREBASIC DATA
0) periods
0) 12
0)
0) Y : unit x1 : descriptionx2: description x3 description x4: description VERIFICATION residuals av.residuals average model variation standardized residuals
0) kWh HDD ref days
0) 1 321120 12.70 0.00 -               326'149        5'029            419.042921 392940 393359.0429 0.039357642
0) 2 335520 19.40 6.00 -               346'171        10'651          887.617467 392940 393827.6175 0.083367429
0) 3 412560 147.60 20.00 -               399'262        13'298-          -1108.1681 392940 391831.8319 -0.104082137
0) 4 394560 353.40 20.00 -               410'909        16'349          1362.40202 392940 394302.402 0.127960475
0) 5 424080 526.70 20.00 -               420'716        3'364-            -280.30063 392940 392659.6994 -0.026326592
0) 6 409680 767.50 15.50 -               419'611        9'931            827.599812 392940 393767.5998 0.077730408
0) 7 431280 876.00 14.00 -               420'841        10'439-          -869.94927 392940 392070.0507 -0.081707984
0) 8 418320 773.70 18.00 -               428'147        9'827            818.913192 392940 393758.9132 0.076914538
0) 9 433440 696.80 17.00 -               420'521        12'919-          -1076.5831 392940 391863.4169 -0.101115594
0) 10 393120 436.30 15.00 -               399'231        6'111            509.21806 392940 393449.2181 0.047827135
0) 11 401760 220.90 17.50 -               395'225        6'535-            -544.55277 392940 392395.4472 -0.051145867
0) 12 339840 54.20 0.00 -               328'497        
0) 13 1'031            0.008070859
0) 14 10647.05343 0.083333333
0) 15
0) 16
0) 17
0) 18
0) 19
0) 20
0) 21
0) 22  
0) 23  
0) 24  
0) 25  
0) 26  
0) 27  

0) Sum & AVERAGE
0) 4'715'280 4'885 163 0 S2 4'715'280 S1-S2 = 0
0) 392940 407.10 13.58 0.00 (S1-S2)/S2 0.00000%
0)
1) TITREREGRESSION
1) 0 3273.953565 56.59300798 325429.7839 #N/A #N/A
1) EQUATION E = 57                            *X1 + 3273.953565 *X2 + 325429.7839 0 517.7050288 12.0145414 6610.715604 #N/A #N/A
1) + 0 *X3 0.947449616 10487.65494 #N/A #N/A #N/A #N/A

1) 48.0782849 8 #N/A #N/A #N/A #N/A
1) 15864522352 879927248.4 #N/A #N/A #N/A #N/A
1) #N/A #N/A #N/A #N/A #N/A #N/A
1) #N/A #N/A #N/A #N/A #N/A #N/A
1) #N/A #N/A #N/A #N/A #N/A #N/A
2) TITREPREDICTED VALUES VERIFICATION
2) SUM Erel - Sum Em = 4'715'280 - Sum( EQUATION) = 0
2)

3) TITREINDEPENDANT VARIABLE SENSITIVITY AN. : 0 days HDD ref
3) tStat >2 #DIV/0! 6.32 4.71
4) TITREMODEL STANDARD ERROR
4) 10487.65494
4)
5) TITREREGRESSION CRITERIA  R2 / CV(RMSE) CV(RMSE)
5) 0.95 ? > 0.75 0.02669022
8) TITRESAVINGS UNCERTAINTY

8)  Guaranteed SAVINGS on the POST REFROFIT period : 12 reports _> 1603195.2 Savings in% : 34%
8) Average savings : 133599.6
8) 
8) Savings standard error
8) Etg = (Ete^2 +Etpsuiv^2)^.5
8) Etg=                  ( 10487.65494 2 + 0 2 )^.5 = 10487.65494
8) 
8) Absolute uncertainty on savings for each report n:
8) Iabsgm = (t* Etg)

8) number of independent variables : 2
8) confidence level : 90% t

8) report number : 12 => 1.83
8) 10487.65 * 1.83 = 19225.06
8) 
8) Summed prediction standard error :
8) Etptot =  Etest^2 *(nbreP)^.5 assumption that standard error identical for each reported period cf B-16 IPMVP
8) 10487.65    *             ( 12.00 )^.5 36330.30
8) 
8) 
8) 
8) Period absolute uncertainty :
8) IabsPsuiv = (t*Etptot)
8) 
8) 36330.30 * 1.83 = 66597.55
8) 
8) Relative uncertainty on garanteed savings
8) Igrel = IabsPsuiv/Gain  
8) Uncertainty Conf.level

8) 66597.55 / 1603195.2 = 5% 90%
8) 

9) TITRESAVINGS UNCERTAINTY ( ASHRAE SIMPLIFIED)

9) Savings in% : 34%
9) 
9) U = t*1.26*CVRMSE/F * ((n+2)/(n*m))^0.5
9) 
9) 
9) U ='(( 1.83 * 0.033629677 ) / 34% ) * 0.311804782

9) Relative uncertainty on garanteed savings
9) Uncertainty Conf.level

9) U = 6% 90%
9) 
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Uncertainty Step 1: Savings equation, and expectations ( or guaranteed figures)
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Steps 2-3 Estimate the uncertainties of input quantities
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Step 6 Evaluate
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Step 6 : Evaluate, double check
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Step 7 : Report in the Main document M&V Section 5 Expected Accuracy


